1 FER29FEFEHITOME

() —Me=E

m A

£ FHIRZE(A) | IRAKEEB) U A ZE (%) B)D

& (BMA) (BMA) s,FEm5 | B/A) | suFme | A%
1 i 1,118,597 1,104,238 503,712 98.7 45.0 33.9
2 A/ E 5 F 48,900 46,054 32,649 94.2 66.8 1.4
3FH F B X M £ 500 1,530 978 306.0 195.6 0.1
4 B B R MR 1,500 4,219 3,307 281.3 2205 0.1
5 ;’Eﬁ%“%f A ﬁﬂ 400 4313 4313 1,078.3 1,078.3 0.1
6 i:%f ):’_ 71_';_ j ;é’zﬁ 119,900 142,650 61,717 119.0 51.5 4.4
7 Eﬂ ;JJKE H; ol ? 6,150 6,935 4,238 112.8 68.9 0.2
8 % i = é 10,500 14,311 9,625 136.3 91.7 0.4
9t A 4B X 4,154 4,154 0 100.0 0.0 0.1
no# A X f 842,012 863,412 278,737 102.5 33.1 26.5
11 % i%” T‘ﬁé ﬁ;‘ff i 1,608 1,529 720 95.1 448 0.0
12 % # ﬁ & zé 32,300 29,093 16,666 90.1 51.6 0.9
13{§ & g & iﬁ 35,465 33,357 15,997 94.1 452 1.0
14E E X & £ 345,507 346,135 194,359 100.2 56.3 106
R X H#H £ 227,904 138,590 111,136 60.8 48.8 43
168 E Ix A 8,597 11,742 9,192 136.6 106.9 0.4
17 % Bt & 23,549 24,753 11,904 105.1 50.5 0.8
18 #2 A & 131,565 128,739 128,739 97.9 97.9 3.9
19 #2 i & 84,243 84,243 0 100.0 0.0 26
20 &% Iz A 101,390 81,706 64,214 80.6 63.3 25
21 T & 280,212 187,730 186,600 67.0 66.6 5.8

it 3,424,953 3,259,433 1,638,803 95.2 479 100.0

T PEBRBERVIRAFREICE, FRBEENSTH29FEEADRYBLAEZEAES




m
& o 17 32(Y

¢ %%%E;%(A) iﬂQTgFﬁﬁii(B) ST L% %Lg/%\(f) SHETFELS (BIDHRALLE
18 = & 24,630 24111 11,049 97.9 44.9 0.9
2 ¥ B & 524,517 480,867 264,557 91.7 50.5 17.0
SR & & 1,182,036 978,956 536,923 828 454 347
4B £ B 203,423 180,709 98,038 88.8 48.2 6.4
5% B # 3427 2,592 1,215 75.6 35.4 0.1
6 EMKEEXE 165,549 83,707 57,654 50.6 34.9 3.0
T I 0B 107,533 94,444 29,964 87.8 278 33
8t K 333,629 175,990 104,565 52.8 314 6.2
°OMdF B #E 122,108 117,882 61,479 96.5 50.3 4.2
% B & 391,778 331,930 178,866 84.7 456 1.8
MKEHEBE 2,368 1,949 0 82.3 0.0 0.1
2y & # 354,631 349,635 184,460 98.6 52.0 12.4
BHE X & % 0 0 0 0.0 0.0 0.0
1“¥ E & 9,324 0 0 0.0 0.0 0.0

H 3,424,953 | 2,822,772 1,528,770 82.4 446 100.1
T PERERUPITEREICIE., THR28FEENLOTER29FE~NDRYBLAZEAFTT,




(2) Rl =5t

ERERAKRENRE (FXREE)

A

5 THREREA) | IWAFEEB) — HRAZE() ——

(BAH) (BAH) ST | (B).(A) | S5THES

TEREERRKB 213,719 207,068 134,142 96.9 62.8
2 @ E X H #® 217,555 196,790 104,570 90.5 48.1
S EEBERNEEXRFE 28,347 21,561 14,127 76.1 49.9
4TI EHEIMNE 251,546 230,584 125,772 91.7 50.0
5 B 52 H & 47,583 52,808 23,855 111.0 50.2
6 £ B E ¥ X & 250,710 231,219 127,257 92.2 50.7
78 E I A 8 7 7 875 87.5
8 #2 A & 98,244 69,751 69,751 71.0 71.0
9 #& i & 5,575 5,575 0 100.0 0.0
10 3 IR A 2,610 3,611 1,548 138.4 59.4

& 1,115,897 1,018,974 601,029 91.3 53.8
m W

5 FHIVEEA) | ITHEEB) BATE®)

(BFA) (BFA) seFregis | B (A | 55Frmme

1 & % =1 4,196 2,417 1,533 57.6 36.5
2 &R BB #H & 688,118 618,904 331,427 89.9 481
3 REYimmEXESESF 115,609 105,972 57,802 91.7 50.0
4 BTG EMSESE 435 399 217 91.7 49.9
5 ZAGREBRE £ 5 3 0 60.0 0.0
6 5+ #E W & = 45,892 42,068 22,946 91.7 50.0
THEEERE E 241,352 226,733 117,038 93.9 48.4
8RR B T X F 9,939 7,237 4,814 72.8 48.4
S®K & KB I % 8 7 7 87.5 87.5
10 2 & & 0 0 0 0.0 0.0
nME X H £ 8,532 8,012 7,116 93.9 83.4
12 % i =1 1,811 0 0 0.0 0.0

&t 1,115,897 1,011,752 542,900 90.7 48.7




ERBERREFISET (DERERENTE)
A
SHTFEHS SHTFEHS
12 & I A 6,417 6,139 3,256 95.7 50.8
2 FRBRUFHEH 82 74 40 90.2 48.7
3B E I A 0 0 0 0.0 0.0
4 # A & 5,855 5,855 5,855 100.0 100.0
5 #& 224 o4 0 0 0 0.0 0.0
6 % Iz A 788 696 519 88.3 65.8
H 13,142 12,764 9,670 97.1 73.6
A <
SHTHH% 5bTF 5
1 & % 7 6,768 6,393 3,328 94.5 49.2
2 E E 3 =1 4,371 3,570 1,831 81.7 419
KN £ E=1 1,803 1,803 896 100.0 49.7
45 X H £ 0 0 0 0.0 0.0
5 % ] =1 200 0 0 0.0 0.0
H 13,142 11,766 6,055 89.5 46.0
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m A
x %(ﬁ%ﬁ%m) HR)(&%%F%(B) ué))\/z?fﬁ/;)
55 TFHES 55T HE5
1 & 53 # 72,064 71,301 39,038 98.9 541
2 KLEEEXEHE 614 0 0 0.0 0.0
3 #2 A & 27,187 26,915 26,915 99.0 99.0
4 1% 4 & 1,285 1,285 0 100.0 0.0
5 & )3 A 2,701 216 208 8.0 7.7
H 103,851 99,717 66,161 96.0 63.7
A v
55 TFEES 55T HE5
1 # % & 645 575 163 89.1 25.2
2 LEESMTE 99,723 90,352 59,458 90.6 59.6
SR B = X & 2,862 2,604 1,792 91.0 62.6
4% X b = 521 369 2717 70.8 53.1
5 F fis = 100 0 0 0.0 0.0
H 103,851 93,900 61,690 90.4 59.4
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A

x %%%%%(A) Hsz)(k%ﬁé%(s) Mg\/a?i%)

S5TEHS S5TEHS

1 &® 53 # 180,369 182,305 93,694 101.1 52.0
2 HEERUVEIES 1,169 1,169 1,169 100.0 100.0
SE E X H £ 190,219 193,887 96,088 101.9 50.5
4 XIEERTE 221,312 199,066 104,933 89.9 47.4
582 X H £ 119,175 102,746 58,265 86.2 48.9
6 84 E I A 5 4 4 80.0 80.0
7 #E A & 123,952 0 0 0.0 0.0
8 # A & 5,295 5,295 0 100.0 0.0
9 IR A 443 1,051 896 237.2 202.2

H 841,939 685,523 355,049 81.4 421
A

SETEHS SETEHS

1 & % = 10,996 8,402 4,511 76.4 410
2R KR B & 769,832 697,434 379,417 90.6 49.3
S EH £ ¥ 1L £ 2,707 2,707 2,707 100.0 100.0
4 MBI XEEEE 48,843 42,564 22,310 87.1 456
5 2 ®" & 2,542 2,542 2,542 100.0 100.0
6 X H = 6,856 6,832 6,199 99.6 90.4
7% fis & 163 0 0 0.0 0.0

H 841,939 760,481 417,686 90.3 49.6
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% A
+ FEIRZE(A) | IR AFZEB) UR A 2R (%)
& B).” (A
(AF) (AF) 55 THEH BA 55 TE S
1 i34 £ 129 129 0 100.0 0.0
2 E ljr} A 320 319 0 99.7 0.0
E 449 448 0 99.8 0.0
% H
x FEIREZ(A) | $11T7:5%B) BATE®%)
& B).” (A
(BFH) (FA) N (B).”(A) N
1 = 3 & 172 161 120 93.6 69.8
2 #F X H £ 216 126 126 58.3 58.3
3 % ] & 61 0 0 0.0 0.0
5 449 287 246 63.9 54.8




FERERPABRELEISH

A
s %:(é%ﬁpﬁ%m ”ﬂ](\j;ﬁéﬁ),(B) Hg\;igg)
SRS SRS
1 EAMRUFHN 10,926 12,351 6,382 113.0 58.4
2 B x H = 54 45 45 83.3 83.3
3 A € 0 0 0 0.0 0.0
4 2 4 & 1,905 1,905 0 0.0 0.0
5 & Iz A 599 602 330 1005 55.1
H 13,484 14,903 6,757 1105 50.1
A
S5 TFHH% ST S
1 # % =1 2,835 2,555 1,156 90.1 40.8
2 = E 3 = 8,274 7,171 4,398 86.7 53.2
3 X H 2 2,275 2,275 2,275 100.0 100.0
4 F fis =1 100 0 0 0.0 0.0
H 13,484 12,001 7,829 89.0 58.1




N R REBRBRIRE

m A
s %:(%Z;_EF%J“ES(A) HR)(&%%IE%(B) H()ZB))k/z?fXA;)
SHLT % PLRE =:0F)
1 FERAMRVFHN 0 0 0 0.0 0.0
2 Bt E I A 0 0 0 0.0 0.0
3 ## A & 2,808 0 0 0.0 0.0
4 42 i o 0 0 0 0.0 0.0
5 & 4 A 1,094 675 675 61.7 61.7
& 3,902 675 675 17.3 17.3
m W
SHT 85 SHT 85
1 #8 % & 878 804 689 91.6 78.5
2 2 E Z 2,924 2,924 1,462 100.0 50.0
3 ¥F " & 100 0 0 0.0 0.0
& 3,902 3,728 2,151 95.5 55.1
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7 —REXBRAE

m A
x %%%%%M)l&%ﬁﬁ%@) ﬁgf%@
SHTHH% S5HFHHI%
1 %8 A & 2,572 0 0 0.0 0.0
2 12 4 & 0 0 0 0.0 0.0
3 5 Iz A 0 0 0 0.0 0.0
F 2,572 0 0 0.0 0.0
m
SHTHH% SHFHHI%
1 # % = 2,472 404 314 16.3 12.7
2 % ] =1 100 0 0 0.0 0.0
& 2,572 404 314 15.7 12.2




TKEEERFRRE

A

s %:(é%ﬁé%m Hﬂ)(\j;ﬁpﬁﬁ),(m Hé))\fg)

SRS SRS

1 PEERUVEESE 6,000 7,249 3,022 120.8 50.3
2 FRAMROFHEN 51,573 49,343 26,954 95.7 52.3
3 E X B % 15,484 15,484 13,279 100.0 85.8
4B X H = 2,940 70 70 24 2.4
5 #E A & 64,631 0 0 0.0 0.0
6 #E 4 & 677 677 0 100.0 0.0
7§ IR A 2,704 2,169 896 80.2 33.1
8 & 105,300 32,580 29,190 30.9 27.7

&t 249,309 107,572 73,411 43.1 29.4

T TPEBERVIRAFREICE. FRBEENOFH2FEADBYBLAZEAFTT,

A
S5 TFHE% ST S
1 4 % = 11,947 9,308 5118 77.9 428
2 = * =1 140,280 99,659 57,864 71.0 412
KIE/N & = 96,282 90,286 47,753 93.8 49.6
4 F fis =1 800 0 0 0.0 0.0
&t 249,309 199,253 110,735 79.9 44.4

T PEBRERVBITHEAEICIEL. FTRBEENOFH2FEANDBRYBLAEZEHET




REEZRPFKEREREE

A
s %:(é%ﬁéﬁ),w Hﬂ)(k%ﬁéﬁ),(B) H(sg)k/%%)
S5 TFHH% ST S
1 PEERUVEESE 2,537 1,556 618 61.3 24.3
2 FRAMRUOCFHH 18,430 18,151 11,259 98.5 61.1
SE E X & # 20,410 0 0 0.0 0.0
48 X H £ 754 409 258 54.2 342
5 #& A & 69,716 0 0 0.0 0.0
6 #2 A & 3,062 3,062 0 100.0 0.0
7§ IR A 1,770 1,700 924 96.0 52.2
8 ™ & 72,080 47,810 47,810 66.3 66.3
&t 188,759 72,688 60,869 385 32.2

T TPREBERVCIRAFREICE. FRBEENLOFH2FE~NDBRYBLAZEAFTT,

A
SRS SRS
1 % =1 4,944 2,301 1,361 46.5 275
2 H * =1 101,269 67,681 26,234 66.8 25.9
3 ®" & 82,131 82,110 40,691 100.0 49.6
4 F fis =1 415 0 0 0.0 0.0
&t 188,759 152,092 68,286 80.6 36.2
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(VIR QLR L5 E Sy

A
5 %%ﬁ%@)ﬂéﬁ%@) ﬁ&f@
SHTHH% 5bTF 5
1 HEERUVEESE 115 95 32 82.6 27.8
2 FRABRUFHEH 451 435 272 96.5 60.4
SE E X H # 0 0 0 0.0 0.0
482 X H £ 0 0 0 0.0 0.0
5 #% A & 1,802 0 0 0.0 0.0
6 #2 4 & 0 0 0 0.0 0.0
7 % Iz A 0 0 0 0.0 0.0
8 ™ & 970 0 0 0.0 0.0
& 3,338 530 304 15.9 9.1
m
SHTFEHS SHTFEHS
1 & % =1 71 46 36 64.8 50.7
2 £ * = 2,509 1,130 634 45.0 25.2
3 2 & & 708 698 349 98.6 493
4 % & =1 50 0 0 0.0 0.0
H 3,338 1,874 1,019 56.1 30.5




Q) kEFEERF

7 ISR SZ
FHEIBZEA) | BITHEE®B) HATE®)
(BA) (BA) S5t TF4E4 (B)/(A) 55T HES5
1 A 188,026 187,036 97,546 99.5 51.9
X 182,548 175,596 142,590 96.2 78.1
1 BEXRMIRX
FHEIBZEA) | BITHEE®B) HATE®)
(A (A SHTH% (B)/(A) 56T H£H145
IR A 28,108 23,442 17,573 83.4 62.5
X ) 146,575 110,917 66,551 75.7 45.4

FPEBBERUVHITELEICIE. FR2BFEFENSTEHR29OFEE~DRYBLAZEAET,




2 TRORAEZOWR FHEAD 78551 A (E3043831 BEA)
(1) hmirn&aE

mHFTEMKLE [ 111885975M|
mMRI1IASRLY | 14752,404H|
5 FHEIREEA) 1TAEEY(FAD
(BH) A/EEADO
1 R 5t 442,493 56,332
2 B E B E M 528,633 67,298
3 B B B E M 25,505 3,247
4 W = ¥ 2 53,027 6,751
5 453 LihiRAE 0 0
6 A i it 19,750 2,514
7 # o™ OEt E B 49,189 6,262
&t 1,118,597 142,404

(2) FEbhhdEE
T E D gE | 342{&4,953 5 H|
mMRE—A&fY | 43756,016M]




3 TDE/AEDIKERE EHEALQ 78551A (ERI0E3A31BE)
g A % & # % 640182,1045 1 (55, —fiE&51380185,8595 M)
mE— A& VY 81735,025M (56, —fk&&t48754,508M)
ﬁﬁ%u (_HRKH-I- “T#%IJ n-l-)
B # EAEE (BM) | MAL(%) | MEAMLS
T K E O B | 2,143,353 35.9 38,996
ER-BULSOERE. REEE 620,223 10.4 ~46.716
B B KB & O B & 751,272 12.6 11,597
m R - Bt kR D E X 15,824 0.3 -2,817
P3 D fth 2,433,990 408 -35,7517
=t 5,964,662 100.0 -34.697
%)\5‘&%” (_HRKH-I- “T#%IJ n-l-)
B A % EABE (M) | MRLL(%) | PEOHLE
BB A B B @ E & & 2,660,494 44.6 -102,939
A N H T & Bt B 1,431,335 24.0 -14,478
m th R 1T % 1,599,757 26.8 91,756
N A F £ @ KR OB 145,716 2.4 -14,287
5 B & & 17 5,081 0.1 -4,591
B 23 =] 0 0.0 0
z D fth 122,279 2.1 9,842
&t 5,964,662 100.0 ~34.697
X (8%) KEBXLEH
& A % EABE (M) | MR (%) | PEOREE
B B A B B @ E & & 289,630 66.2 28,062
A RLELEEEFEETMBER 147,812 33.8 -9,359
=t 437,442 100.0 18,703
EARSEE HII4F B A LL &7
6.402,104] 75 | -15,994] 5 H




4 TMAMEDKR
(FRL3 OFE3 A3 1HIEHAE)

BABGREES 655, 6345 H
H

BEREE 385,671 AH
&

ZTDMDEE 669, 428 5 1
HEIZ K HIEF 100, 8525 H
E=RfiENE 6, 7645 M
LK 8,705, 272m
EY 372,201m
T i#h 3,501, 500m
HBFEEIE 3718
TRE—5— ‘ 24
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